Chapter-11 Numbers

Question 1:

Write the number.
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Question 2:

Draw the bundles and ones of the number.
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Question 3:

Write the number in the given space.
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Question 4:

Numbers from 51 to 70

Fill in the blanks.
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Question 5:



Fill in the blanks.
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Question 6:
Numbers from 91 to 100



Fill in the blanks.
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Question 7:

Write the missing numbers.



51 |52 |53 |54 |55 |56 |57 |58 |59 |60

62 65 69
73 80

84 g8
93 95 99
Answer:

51 |52 |53 |54 |55 |56 |57 |58 |59 |60
61 |62 |63 |64 |65 |66 | 67 | 68 |69 | 70
71 |72 |73 |74 |75 |76 | 77 | 78 |79 | 80
81 |82 |83 |84 |85 |8 | 87 [88 |89 |90
91 (92 (93 |94 |95 |96 | 97 [ 98 |99 |100




